Math 240 - Quiz 5 Name \495()
October 8, 2020 Score

The following problems are from the suggested homework. Show all work to receive full
credit. Supply explanations when necessary. You miust work individually on this quiz. This

quiz is due October 13.

1. (2 points) Find by inspection particular solutions of
v +2y=4 and  y"+2y=6z.

Then use your results to find the general solution of y" + 2y = 6z + 4.
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2. (2 points) Solve the initial value problem. S
y® +10y" + 25y = 0; y(0) =3,4/(0) =4,y'(0) =5
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3. (2 points) Solve. y® +3y" + 4y’ — 8y =0
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4. (2 points) The equation of motion of a mass in a mass-spring system satisfies the

equation
42" + 202" + 169z = 0; z(0) =4, 2/(0) = 16.

Determine the equation of motion. Write your final answer in terms of a single sine or

cosine.
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5. (2 points) Solve. y" —y — 6y =2sin3z
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